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Suppose that the number of scores on a test are normally distributed and, approximately 68% of
the scores fall between 55 and 67 and them ean is 61. What is the standard deviation?
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Approximately what percent of these taking the test had verbal scores between 480 and 490¢
Round your answer to the nearest tenth and show any calculations you might have done.
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A person's blood pressure is roughly 120 and normally distributed with a standard deviation of 6.
: : mﬂﬁ . .
a) State an interval (lowest to highest) «esesOT values for which 95% of people’s blood pressure lies.
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b) What is the probability that someone’s blood pressure is greater than 1402
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c) Which is greater, the probability that someone has a blood pressure less than 90 or greater than
1302 Show your calculations. Why does this make sense?
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